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PLEASE ENSURE THAT THIS QUESTION BOOKLET CONTAINS
120 QUESTIONS SERIALLY NUMBERED FROM 1 TO 120,

PRINTED PAGES : 32

1.  The domain of the function f(x)=+7-3x +log, x is

(A) OD<x<ee (B) gix{m (C) O<x=

|_,_-.!..._\_1

(D) —ss<x<0 (E) _m”gg

2. If f(h=1, f(2n)= f(n) and f{2n+l}={f{n}]:—1 for n=1,2,3,..., then the value
of f(1)+ f(2)+++ f(25) is equal to

(A) 1 (B) — 15 (C€)—17 (D) -1 (E) 13

3. Let Xand Y be two non-empty sets such that X mnA=Ynd=C and XYuAd=Yu A

for some non-empty set A. Then

(A) Xis a proper subset of ¥
(B) Y is a proper subset of X
(C) X=¥Y

(D) X and Y are disjoint sets
(E) X\A=0

Space for rough work
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4.  Theset(4\B) U (B\A4)is equal to
(AYANAN BN [B\ (4N B) (B) (A UB)\ (4~ B)
(C) A\(A A B) (D) ANB \ AUR
() (AUB)\(AUB)

5. Therange of the function f(x)= N I

2—cos3x

? 3 1
(A) (~2,%) (B) [-2.3] (C) (5*2] (D) [5,1] (E) {511}

6. In a class of 80 students numbered | to 80, all odd numbered students opt for Cricket,
students whose numbers are divisible by 5 opl for Football and those whose numbers
are divisible by 7 opt for Hockey. The number of students who do not opt any of the

three games, is
(A) 13 (B) 24 (C) 28 (D) 52 (E) 67

7. If Re(l+iy)' =-26, where y is a real number, then the value of | y| is

(A) 2 (B) 3 (C) 4 (D) 6 (E) 9

8. If z=x+iy is a complex number such that |:| = Re(iz)+1, then the locus of z i3
(A) ¥+ =1 (B) x*=2y-1 (C) y*=2x-1

(D) v =1-2x (B) x*=1-2y

Space for rough work
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13. Sum of the roots of the equation |x—3" +|x—3|-2=0 is equal to

(A) 2 (B) 4 (C) 6 (D) 16 (E) -2

14. The quadratic equation whose roots are three times the roots of the equation
2x° 43x4+5=0,is
(A) 2x° +9x+45=0 (B) 2x"+9x—45=0
(C) 5x*+9x+45=0 (D) 2x° —9x+45=0
(E) 2x° +9x+49=0

15. If x is real number, then j—x— must lie between
x =3x+9
{A}I—]Iandl (B) --Iandﬁ (€) —11 and 1
(D) -1 and 11 (E) —ﬁ and 1

16. If the roots of the equation (x—a)(x—b)+ (x=b)x—c)+(x—¢)(x—a)=0 are equal,
then a®+h* +¢% =

(A) a+b+c (B) 2a+h+c (C) 3abe
(D) ab+be+ca (E) abe

Space for rough work
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9, Let ::.2.-"‘:'-1--1._. Then [;fl.ﬂ _?}TJ f’r_-[f" _____H]

1° +(-l.:a _"Ei!ij"'[_iu“";ll?}"(iu +3FLSJ=

7

(A) —1+i (B) =1-i (€) 1+i (D) —i (E) i

L g¥ —
10. If f(&}:'l_ ®_ where z=x+iy with z #1,then Re{f(z)}=0 reduces to

G
(D) ¥ =y +x+1=0 (B) x* -y +x+2=0

11, If z=1+i, then the argument of z%¢" is

y y 2 o E y & |
@ 3 ® ¢ © ] ® L  ®o

12, If the difference between the roots of x*+2px+¢=0 is two times the diffe

between the roots of ¥ +¢x+£.=0, where p =g, then

] zegl=y (B) p-g-1=0 (©) p+g-1=0
s (E) g=4p+1=0

Space for rough work
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2 : I 1
17. If one root of a quadratic equation is 7 . then the quadratic equation is
1++4/3

(A) 2x* +x-1=0 (B) 2x*—2x-1=0 (C) 2x*+2x+1=0
(D) 25 +x+1=0 (E) 2x*+2x-1=0

18. The 5" and 8" terms of a G.P. arc 1458 and 54 respectively. The common ratio of the

G.P. is

(A) % ®) 3 ©) 9
1 |

(D) % (E) -

19. Let §5(n) denote the sum of the digits of a positive integer n. For example,
5(178) =147+ 8=16. Then the value of S(1)+S(2)+ S(3)+---+ §(99) is equal to

(A) 476 (B) 998 (C) 782 (D) 900 (E) 855

Space for rough work
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20,

21

2.

23.

An AP, consists of 23 terms. If the sum of the 3 terms in the middle 15 141 and the sum

of the last 3 terms is 261, then the first term is

(A) 6 (B) 5 (C) 4 (D) 3 (E) 2

If 4" term of a G.P. is 32 whose common ratio is half of the first term. then the 15"
term 1s

(A) 2" (B) o8 (C) o4 (D) 2'¢ (E) 510

Let S, be a square of side 5 em. Another square S, is drawn by joining the midpoints
of the sides of §, Square S, is drawn by joining the midpoints of the sides of §, and

so on, Then (areaof S, +areaof §, +areaof S, +---+areaof §,,)=

| ] |
(A) zs[lnF] (B) 5{1[1*@—} (©) 2["?ﬁj

2"

o5 (E) Iﬂ[l -j—L})

If a, b, ¢ are in A.P. and if their squares taken in the same order form a G.P., then

(m‘.+c]4 =

(A) 16a‘c’ (B) 4a’c’ (C) Ba'e’ (D) 2a’c’ (E) a'c’

Space for rough work
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24,

25.

26.

217.

28.

The value of x satisfying the relation 11(*C, ) =24("""¢, ) is

(A) 8 (B) 9 (© 11 (D) 10 (E) 12

1
. : TRV g <
The power of x in the term with the greatest coefficient in the expansion of [1 +E] (E

(A) 2 (B) 3 (€) 4 (D) 5 (E) 6

The number of 5-digit numbers (no digit is repeated) that can be formed by using the
digits 0,1,2,+--,7 is

(A) 1340 (B) 1860 (C) 2340 (D) 2160 (E) 3200

If my and ms satisfy the relation "*'P =l—21 {m—l}("’*’}’m}, then m, +m, is equal to

w4l

(A) 10 (B) 9 (©) 13 (D) 17 (E) 15

Sum of coefficients of the last 6 terms in the expansion of (1+ x]“ when the expansion
is in ascending powers of x, is

(A) 2048 (B) 32 (C) 512 (D) 64 (E) 1024

Space for rough work
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29,

30.

31.

32.

If Cy, €1, G, ..., Cis are binomial coefficients in (1+x)'%, then

ConGnl €
42 =243 24, +15 1 =
-'Cﬁ q Ci Cu

(A) 60 (B) 120 (C) 64 (D) 124 (E) 144
3 4 8 15|
5

and A'=|3 6 12|, then
12 2 3 5

1
HA=|2
3

(A) A'=24  (B) A'=-24 (C) A'=A (D) A'=-A (E) A'=3A

l+x 3 5
The roots of the equation | 2 2+x 5 [=0 are
2 3 x+4

(4 21,9 ® 1,1,-9 (©-1,1,-9 (D)-2,-1,-8 (E)-21,1

0 3 2
12 0 1 |is singular, then the value of bis equal to
4 -1 6 )

(A) -3 (B) 3 (€) -6 (D) 6 (E) -2

Space for rough work
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33.

34,

3s.

36.

If4= |. i x;1j| and if det 4 =9, then the values of x are

2x
wlas w2 w3y o2a e
2" 3" 3 9" gurt
cos’ 54° cos’ 36° cot135°
The value of the determinant |sin” 53° cot135° sin® 37°| is equal to
cot135° cos®25° cos® 65°
(A) -2 (B) -1 (C) 0 (D) 1 (E) 2

If A and B are square matrices of the same order and if A=4", B=8", then

(ABA) =
(A) BAB (B) ABA (C) ABARB
(D) AB' (E) (4B)

If |x—3|<2x+9, then x lies in the interval

(A) (-=-2) (B) (-2,0) (C) (=2,%)

(D) (2,) (B) (-12,-2)

Space for rough work
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37.  The area and perimeter of a rectangle are 4 and P respectively, Then P and A satisfy the
inequality
(A) P+A>PdA (B) P's4 (C) A-P<2
(D) P’ <44 (E) P'2164

38.  Forany two statements p and g, the statement ~(pV ¢)v (~ p A gq) is equivalent to
(A) ~p (B) p © ¢ (D) ~q (E) pvy

39. Letp, g, r be three statements. Then ~ (p v (g A ) is equal to

@) pa=@al-pr=r B (pv-@A-pv-1)
(©) (~pr~g)v(=pa~r) (D) (~pvV~@V(~pr~r
(B) (~pa~g)V(=pv~7)

40.  Consider the two statements P : He is intelligent and Q : He is strong, Then the
| symbolic form of the statement “It is not true that he is cither intelligent or strong” is

(A)~PvQ B)~Pv~0 (C)~PAQ (D) Py ~ 0 {E} = fPV Q}

Space for rough work
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4. If m%.:.%, ion thevalle:of sinbiis

- 3 o 11 By 2
™ ®:  © o) 1 ®
42. If x=5+2scc and y=5+2tand, then (x—5)° —(y~5)" is equal to

A) 3 ®) 1 © 0 D) 4 ) 2
43. The value of tan15°+ tan75° is equal'.w
(A) 23 (B) 2 © 2= (@ B (E) 4

44.  The period of the function f(x) = cos 4x + tan 3x is

® 3 ®F ©F ©n E) 2n




45, Ifsin (8 +0)=nsin (0 - ), n #I, then the value '@:?f'ﬁ* is equal to

47.

n+1 . _p—1 I e
n—1 ( ] 1 -n { } n+1 (E] l=n

() (B)
n—1

s

If cos™ x+‘ﬁua"i'.__}z-=z?“. then the value of sin™' x+sin™' y is equal to

4n 3 2 . 6m 5w
5 & gy 3 oy 28 oy g 2
f]_'..? (.37 (C}? {D}T (}?

If cos™x > sin”' x, then x lies in the interval

{1 o =R T T
(A) [E'l] (B) (0, 1] (C) [ _1,-?5—_] (D) [-1,1] (E) [0, 1]

If 0<x<2m, then the number of solutions of the equation '_si_'nﬂ':x-iﬂ-qgs"x =1is

(A) 2 (B) 3 © 4 (D)5 (E) 8

Space for rough work
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50.

51.

32

Let 4(0,0) and B(8,0) be two vertices of a right angled triangle whose hypotenuse
is BC. If the circumcentre is (4, 2), then the point C is

(A) (2,4) (B) (0, 8) (€) (0, 4) (D) (0, 6) (E) (2, 8)

If coordinates of the circumcentre and the orthocentre of a triangle are respectively
(5, 5) and (2, 2), then the coordinates of the centroid are

(A) (1, 1) (B) (3, 1) (€) 3,3) (D) (2,2) (E) 4.4)

If the points A(3,4), B(x,,3 ) and C(x,,y,) are such that both 3,x,,x, and 4,y,,y,
are in A.P., then

(A) A B, C are vertices of an isosceles triangle
(B) 4, B, C are collinear points

(C) A, B, C are vertices of a right angled triangle
(D) A, B, C are vertices of a scalene triangle

(E) 4, B, C are vertices of an equilateral triangle

If p and p, are respectively length of perpendiculars from the origin to the straight

lines xsec@+ y cosecf=qa and xcosf—ysinf=acos26,then 4p’+p," =

(A) 1 (B) o © ;L D) a () é

Space for rough work
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56.

57.

58.

The distance between the point (1, 2) and the point of intersection of the lines

2x+y=2and x+2y=2 is

Ji7 Jis Ji7 Jis /B
5

(A) 5 (B) N (©) = (D) ¥ (E)

If a straight line is perpendicular to 2x+8y =10 and meets the x-axis at (5, 0), then it

meets the y-axis at

(A) (0,-2) (B) (0,-8) (€) (0,-10) (D) (0,-16)  (E) (0.-20)

If the straight line 5x + y = & forms a triangle with the coordinate axes of area 10 sq.

units, then the values of k are

(A) %15 (B) %10 (Cy x5 (D) £20 (E) 7

A circle passes through the point (6, 2). If segments of the straight lines x+y =6 and

x+2y=4 are two diameters of the circle, then its radius is

(A) 4 (B) 8 (C) V5 (D) 245 (E) 445

The parametric form of equation of the circle X%+ yz —6x+2y—28=0is

{(A) .x=—-3+yrﬁccrsﬁ,y=-l+nl"ﬁsinﬁ (B) x=@msﬂ,y=ﬁsinﬂ

(C) x=-3-38cosB, y=1++38sin® (D) x=3+/38cosH, y=—1+38sin0
(E) x=3+38cosB, y=-1+38sinb

Space for rough work
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59,

60.

61.

62.

1

The point on the circle (x— I}z +(y—1)" =1 which is nearest to the circle

(x=5) +(p=5) =4 is

wes w3 el
(D) (V2.42) (B) (1+42.14+2)

The line segment joining (5, 0) and (10 cos8, 10 sin@ ) is divided internally in the ratio

2:3at P. If 8 varies, then the locus of P is

(A) a pair of straight lines (B) acircle (C) a straight line
(D) a parabola (E) anellipse

ABCD is a square with side a. If 4B and AD are along the coordinate axes, then the
equation of the circle passing through the vertices A, 5 and 2 1s

(A) X¥+y' = \Ef.'(x+y} (B) x*+)* =£—I{x+_v) (C) x*+y =a(x+y)

V2

(D) x*+y =a’(x+y) (E) u(x""+y1)=x+y

The distance between the directrices of the hyperbola x* — y* =9 is

(A) :?—,’— (B) % (© % D) W2 E) 53

Space for rough work
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63.

64.

65.

66.

[f the line y = kx touches the parabola y = {x—~1}1 , then the values of k are

(A) 2,2 (B) 0,4 (C) 0,=-2 (D) 0,2 (E) 0,-4

If the semi-major axis of an ellipse is 3 and the latus rectum is % , then the standard

equation of the ellipse 1s

Z 2 2 2 2 2
(W) S+2-=1 B) L= (©) %+%=1
32 )2 2 gy
) s M AP By &4t =i
O =i ) 5+
2 _}‘2

If a point P(x,y) moves along the ellipse ;_j-'-ﬁ_l and if C is the centre of the
ellipse, then, 4max{CP}+5min{CP}=

(A) 25 (B) 40 (C) 45 (D) 54 (E) 16

The one end of the latus rectum of the parabola y* —4x—-2y—3=0is at

(A} (0,-1) B) (0,1) (C) (0,-3) (D) (3,0) (E) (0, 2)

Space for rough work
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67.

68.

69.

70.

The angle between the two vectors i+ j+k and 27 —2j+2k is equal to

A2 A1 NE (L (1
(A) cos [3] (B) cos (6] (C) cos [ﬁ] (D) cos (18] (E) cos {3]

IfG=i+j+k, b=4i+3]+4k and &= +aj+ Bk are coplanar and |c_'|=JL’T, then

(A) a=+2,8=1 (B) =1, f=+I (C) a=tl, f=1
(D) a=+1, f=~1 (E) a=-1, f=+I

Let P(1, 2, 3) and Q(-1, -2, —3) be the two points and let O be the origin.

Then |P_Q.+{TP'=
(A) V13 (B) 14 (C) 24 D) 12 (B) &

Let ABCD be a parallelogram. If AB=i+3j+7k, AD=2{+3]—-5k and p isa unit

vector parallel to AC, then p is equal to

(A) %{2f+j+2£} (B) %(2?-1}4»:2) (©) %[3f+6}+2ﬂ:}
1 [} A o - - -
(D) (67 +2]+3K) (E) %{ﬁ:‘+2j—3k}
Space for rough work
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71,

72.

73.

74,

Let OB={+ 2j+2.£ and OA=4{ +2j+2k. The distance of the point B from the

straight line passing through A4 and parallel to the vector 2i +3j + 6 is

A) i @ 2L “r (©) i (D) £ (E) ﬁ

If E:ﬂf+2}+2£ and E=2f+2}+£1‘.ﬂ; are at right angle, then the wvalue
|a@+5|~|i 5| is equal to
(A) 2 (B) 1 (C) 0 (D) —1 (E) -2

Let the position vectors of the points 4, 8 and C bhe a, b and & respectively. Let O be

the point of intersection of the medians of the triangle A ABC. Then QA+ QB +0C =

(A) “‘E’“ (B) 25+B+& (C) a+b+e @) 2X2*C b
The angle between the lines 2x=3y=—z and 6x=-y=-4z is

T T bis w 2r
A) — B) — C) — D) — E)y —
(A) 7 (B) i (C) 3 (D) 5 (E) 3

Space for rough work
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75.  The projection of the line segment joining (2, 0, -3) and (S, -1, 2) on a straight line

76.

whose direction ratios are 2, 4,4 is equal to

= ® 2 © 3 my 2 ®

@ < ®) < © 5 D)

The angle between the straight line 7 = (i +27+£)+5( - j+£) and

the plane 7-(2 - j+k)=4 is

(A) in"[zﬁ) (B) sin”' [%J (©) sin [%E*J

© sin'( | ® s (3]

If a straight line makes angles @, f, ¥ with the coordinate axes,

i M + T ;
l+an'a | sec2 B

(A) ~1 (B) 1 © -2 D)2 (E) 0

— 2sin’y =

Space for rough work
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78.

79.

30.

81.

The equation of the plane which bisects the line segment joining the points (3, 2, 6) and

{5, 4, 8) and i1s perpendicular to the same line segment, is

(A) x+y+z=16 (B) x+y+z=10 (C) x+y+z=12
(D} x+y+z=14 (E) x+y+z=15
The foot of the perpendicular from the point (1,6,3)to the line % =$ = ; 2 is
(A) (1,3,5) (B) (-1,—-1,-1) (C) (2,5.8)

I I
D) (=2,-3,—4 E) | =2~
o) ( ) ® (3.25)

The plane x+3y+13=0 passes through the line of intersection of the planes
2x—8y+4z=p and 3x-5y+4z+10=0. If the plane is perpendicular to the plane
Jx—y—2z—4=10, then the value of p is equal to

(A) 2 (B) 5 () 9 (D) 3 (E) —1

If a straight line makes the angles 60°, 45° and @ with x, y and z axes respectively,

then sin‘ex =

3 3 I ;
(A) 2 (B) 5 (C) 3 (D) 1 (E)

Space for rough work
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82.

83.

85.

Let A4 and B be two events, Then 1+ P(4 B)— P(B)—P(4) is equal to
(A) P(AUB) (B) P(ANB) (C) P(ANB)

(D) P(AUB) (E) P(ANB)

The mean of five observations is 4 and their variance is 5.2, If three of these

observations are 2, 4 and 6, then the other two observations are

(A) 3and 5 (B) 2and6  (C) 4and4 (D) 8and 10 (E) land7

The first term of an A.P. is 148 and the common difference is — 2. If the A.M. of first n
terms of the A.P. is 125, then the value of 1 is

(A) 18 (B) 24 (€) 30 (D) 36 (E) 48

If the combined mean of two groups is ? and if the mean of one group with

10 observations is 15, then the mean of the other group with 8 observations is equal to

46 35 45 - 41 43
A) — By — g B B .2
(A) 3 (B) 3 (€) 4 (D) 2 | (E) "

A function [ satisfies the relation f(n’)= f(n)+6 for n=2 and f(2)=8. Then the
value of f(256) is

(A) 24 (B) 26 (C) 22 (D) 28 (E) 32

Space for rough work
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e Hm(m- sin s?x:_)"a-:ﬁn 7 (6 sin 5x (4 sin3x |( sinx ) _
" el 9 sin10x /| 7 sin 8x )\ 5 sin 6x /| 3 sin 4x /| sin 2x

® 5 ®) © % (D) {; (E) %ﬁ

1
256 6

88. The number of points at which the function f(x)= lf!; T is discontinuous, is

A 1 ®) 2 © 3
(D) 4 (E) mﬁnitaly many

89. The value of Hm l:yﬁm[ll—l] is equal to
=Ly P

() 1 (B) © -1 (D) 0 (E) —0

5 4 xl-. X
0. | - — — — |=
3 i‘:ﬂ[zx._-z 3]_

@ 3 ® 2 ©Z2 o o3

Space for rough work
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91. The functions f, g and & satisfy the relations f"(x)= g(x+1) and g'(x) = h(x—1). Then
["(2x) is equal to
(A) h(2x) (B) 4h(2x) (C) h(2x-1) (D) h(2x+1)  (E) 2K(2x)

I—cos2x

92. If f(x)=sin"' (
2smnx

),then |f’{x]! is equal to

(A) [3inx| (B) x (C)y 0 () rcusxf {E) 1

93. If y°=100tan™" x+45sec”’ x+100cot™ x+45cosec”'x, then 5.

dx
x2-1 2+l 1
(A B Q) 1 D) 0 E
)x1+l (}xj_l (€) (D) (]m:z—_ﬂl
94. If f{x}=3x2—'?x+5, then lin:}m"'(M is equal to
X X
(A) 6 (B) -7 (C) 7 (D) -6 (E) 5

Space for rough work
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9.

97. If

If'y=rm(tan“.t) ﬂwn tﬂV maqualm

(A) T_=1+-x’ B) xVI+x' (€ VI+a" (D) A (B =y

lel<L, sinx=—2 ;. b
If|r[~r:1.sin-x—l+t,,tan =7, then ==

"R 5 1 R, PRI T
(A) 3 (B) 3 (©) 2 (D) 3 (E) 1

s .x+1 d‘zy
=— 4+ then —= atx=1 is equal to
P dx? ]

() gl B3 © - ) — E) -

Let f(x)=(3sin’ (10x+11)=7) for xe R. Then the maximum value of the function
f.is

(A) 9 (B) 16 (€) 49 (D) 100 (E) 121

If a circular plate is heated uniformly, its area expands 3¢ times as fast as its radius,
then the value of ¢ when the radius is 6 units, is

(A) 47 (B) 27 (C) 6x (D) 37 (E) 87

Space for rough work
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100.

101.

102.

103.

104.

105.

The slope of the tangent to the curve y=3x" =5x+6 at (1, 4) is
(A) -2 (B) 1 (©) 0 (D) -1 (E) 2
The chord joining the points (5, 5) and (11, 227) on the curve y=3x"—11x-15 is

parallel to tangent at a point on the curve. Then the abscissa of the point is

(A) —4 (B) 4 (C) -8 (D) 8 (E) 6

The function f(x)=sinx—kx—c, where k and ¢ are constants, decreases always when

(A) k>1 (B) k=1 (©) k<1 (D) k<1 (E) k<-1

If y=mlogx+nx"+x has its extreme values at x=2 and x=1, then 2Zm+10n =

(A) -1 (B) —4 {(C) -2 (D) 1 (E) -3

If s=20—6:2+ar+5 is the distance travelled by a particle at time ¢ and if the

velocity 1s — 3 when its acceleration is zero, then the value of a is

(A) -3 (B) 3 (C) 4 (D) -4 (E) 2
d¥xje’ dx is equal to
cot({xe™)

(A) ingl cos(xe™) |+ C (B) lng‘ cot(xe®) |+ C (C) lag‘sec[;ce") +C

(D) Iugl cos(xe )|+ C

+C

(E) 1ngl sec(xe”)

Mathematics-11-B1-2015
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i LR e
(A) %J__l.-;-x_‘f"txﬁ-ﬂ;»rc (B) —\( 9(+H+C (O = 2 Visd e

(D) “E 52 (F=2)+C  (B) %—4 1422 (2 49)+C

107. dx =

EHI 5E-x
(&) dlog|e"=5|+C (B) Jlog|e*=5|4C  (©) log|2e'~5¢ " [+C

(D) 4log|2e’ ~5[+C (E) log|2e™~5}+C

108. j (J;-{-?ln;y Fia

(A) §+ z'xq-lpgj;:{ﬂ: (B) %ffﬁﬂﬂsh‘iﬂ“c
2

(©) Z-+x+logh+C (D) % 20+ 2loglx|+C

(E) -%—'2x+log|.xi +C

9 ._t .
L

(A) itan“ [wa (B) Emﬂ [%]HZ (C) Esin“ (%]HS

k&

(D) Hms“[x }i{f (E) —mt“[aJHL'

Space for rough work
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1mo. | (xj
X

111.

112.

2

1)
x( +I)

(A) log|x(x*+1)|+C

1+ x

(D) Iog( ' z]+l’3

dx =

1
lengxz
(A) %Iugllﬂg x2|+ C

(D) 4lugliug x3|+ &

u-‘(f +1ﬁ)l[f +25)

(A)

i
(C) %

|
£

—

=

=

4
P .
£ | —
L

I

(E)

O |-
T 1

(B) log|x|+C (C) log|x|+2tan”" x+C

(B) 2log|x|+tan x+C

(B) logllog*|+C (©) 2logllogx’|+C

(E) élﬂg!logx3|+c

Mathematics-11-B1-2015
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113. E[x{-l'—x] (1+x) dx =
=i
e | B3 (© 1 (D) -1 ®) 0

114, The area bounded by y=x"+3 and y=2x+3 is (in sq. units)

(D) (E)

o6 |

(A) ? (B) 3 (©)

Blw
| e

sin’ x
=

115, Thevalueof [ —— dx is equal to

Ay ®) n (©) (D) 2" (E) Tn

SRk ]

Jri2 _
116. 'f"z-x?‘-siq(xﬂ)_.dg;
0

Space for ough work




117. If x*+y* =1, then
@A) W +(¥) +1=0 (B) w'+2(y) +1=0  (C) " -2(y) +1=0

D) w'+(¥) -1=0 (E) " —(2y) -1=0

118. The solution of the differential equation y’( - x) =y 1s

(A) y'=3xp=C (B) ' +3xy=C (C) ' =3xy=C

(D) y'-xp=C (E) x'-xy=C

2 72 3
119. The order and degree of the differential equation [Zg +[Q]} =ﬂ are

*oldx dx’
respectively
(A) 2and 2 (B) 2andl (C) 3and2
(D) 3and3 (E) 2and4

120. The slope of a curve at any point (x, y) other than the origin, is y+-£. Then the
x

equation of the curve is

(A) y=Cxe" (B) y=x (EI+C] (C) xy=Ce*
(D) y+xe*=C (BE) (y=x)e*=C
Space for rough work
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